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partition = murmur2(key) % partitions

https://ru.wikipedia.org/wiki/MurmurHash?2
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log.dirs

replica O OV 1421314151617 18

replica 1 01112314567

unclean.leader.election.enable=fals
e



HacTtponkn — Kak pasnomaTb Knacrep

log.dirs

replica O

0

1

2

3

4

5

6

7

replica 1

0

1

2

3

4

5

6

7

unclean.leader.election.enable=false
KIP-106 - Change Default

unclean.leader.election.enabled from True to False

(0.11)
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log.dirs

replica O

replica 1 QN 1N 21314151617

https://issues.apache.org/jira/browse/KAFKA-341
0
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HacTtponkn — Kak pasnomaTb Knacrep

log.dirs

replica O

replica 1 QN 1N 241314151617

(ncnpasneHo B 1.1)
https://issues.apache.org/jira/browse/KAFKA-341
0
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yMon4yaHuto (1)

- default.replication.factor = 1
- auto.create.topics.enable = true
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HacTponkn — YMHOXeHune

- message.max.bytes (Broker, 1_000_012)
- max.request.size (Producer, 1_048 576)

- max.partition.fetch.bytes (Consumer,
1_048_576)

- batch.size (Producer, 16_384)

- KIP-126 - Allow KafkaProducer to split and

resend oversized batches (0.11)
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API - Bnokupytowmmn
send

- Ecnn MeTa-aaHHble He AoCTynHbl — producer.send()
6riokupyeTcs

-max.block.ms = 60 000

- KIP-286: producer.send() should not block on
metadata update (discuss)

179
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ile(tr
ConsumerRecords<Key, Event> records
= consumer.poll(1_000);

for (var record : records) {
/*do something */

»



APl — beckoHeyHao
@pgepmanm3auMﬂ

/* parsing */
} catch (RuntimeException e) {

throw new SerializationException(
"Error deserializingkey/value for partition " +partition +
" at offset " +record.offset() +

".If needed, please seek past the record to continue
consumption.”, e);

¥
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/* parsing */
} catch (RuntimeException e) {
throw new SerializationException(
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¥
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/* parsing */
} catch (RuntimeException e) {
throw new SerializationException(
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¥
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¥

consumer.seek(partition, offset);

187



APl — beckoHeyHao
@pgepmanm3auMﬂ
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} catch (RuntimeException e) {
throw new SerializationException(
"Error deserializingkey/value for partition " +partition +
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¥
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APl — beckoHeyHas
pecepunannsaung

Haw BbIGOpP: KAaCTOMHbIN Aecepuanmn3aTtop, KOTOPbIW
BEPHET null
B C/ly4dae owmnbku
while(true) <
ConsumerRecords<Key, Event> records
= consumer.poll(1_000);

for (var record : records) {
iIf (record.getValue() == null) { continue; }

/*do something */



APl — beckoHeyHas
pecepunannsaung

Haw BbIGOpP: KAaCTOMHbIN Aecepuanmn3aTtop, KOTOPbIW
BEPHET null

B C/ly4dae owmnbku
while(true) {
ConsumerRecords<Key, Event> records

= _consumer.poll(1 000);

for tvar record : records) { ‘
if (record.getValue() == null) { continue; }

/*do something */

} 192
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API — HEyecTHOE

YTEeHNE
- KIP-41: KafkaConsumer Max Records (0.10)

- XXaagHbin round-robin

- KIP-387/: Fair Message Consumption Across Partitions
in_KafkaConsumer (discuss)

201
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PyTHa — OrpaHnyeHumne Ha pa3Mep

TOMUKA

-log.retention.bytes (Broker,
unlimited)

- retention.bytes (Topic) — per partition
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PyTnHa — MecCTo Ha gucke

- HeT aBTOpacnpeaeneHms napTMUmMin No HOBbIM AUCKAM

-KIP-113: Support replicas movement between log
directories (1.1)

- PaBHOMepHoOe pacnpeaeneHne naptTmummn no
KOJZInyecTBy

-KIP-178: Size-based log directory selection strategy
(discuss)
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PyTnHa — HoBbIU
EI_POKe

eT aBTopacnpeaeneHns napTmumm Ha HoBoro bpokepa
- PykaMun genatb partition reassignment

{ "version": 1,
"partitions": [
{ "topic": "hg2tg", "partition" : 42,
"replicas": [brokerIds]

T

]
y



PyTHa — HoBbIN
bpokep

{ "version": 1,
"partitions”: [
{ "topic": "hg2tg",
"replicas": [1, 2,
S

]
y

"partition’
3]

: 42,



PyTnHa — HoBbIU
bpokep

- Preferred leader — nepBbi1 6pokep B cnucke
penInK

{ "version": 1,
"partitions": [
{ "topic": "hg2tg", "partition" : 42,
"replicas": [1, 2, 3]

g
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- OcobeHHOCTM (HegopaboTkn?) knmneHtckoro API
- BonbLwoe KOMMYECTBO PYTUHDI

-ﬂ,OKYMEHTaLI,MFI O MHOINOM yMaJlinBa€eT

- Kafka - nyJyuwee, 4yto ectb... 1 OHa KnaccHas
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